HAY EsHAl | F#EA = Zlsti=ol CHAMOIR = ﬂ?
2017-11-02 | TAZH xJ| 20 QAQHAERIE ZQ
O A AERICH
FEPAEEAT | o710 (27 M2oR) | ma mo 37.500 9l 52 o=
2017-11-03 NESE x| 2ol SAQHAERE £9
SAQIHAERICH . 2 20,000 A=set e
1236 |(z23 qeot2)| 2@ o 2l 3
2017-11-03 GS25 xJ| 20 SAQHAERIE £
oA AED|CH [t
ESEEN=CIT=3 (i RN [ 22,800 of 40 e[i=
-11- HERE 5| 2o SAQHAERE £
sroyaeye | 2017-11-09 3 20,000 A=Eeh =
1212 |(zz7 m202)| 2 g gl 33
-11- JJeigHa! 5| 2o SAQHAERIE £9
gaoaeye | 01711718 e = 18,400 ASEet St
1217 (27 Masm)| 2 Eo 9l 3%
11- DILAS xJ| 20 SAQHAER T ZQ
sroyrepe | 2017711722 < 15,200
17:59 (=27 g2em)| 2@ 89 9l 3%
-11- R 5| 2o SAQHAERE £
saoyaepe| 201711724 ® '3 10,500 A==ct
1507 |(ma2p meom)| 2 g9 2 1Y




=] o
[ 71 & (FAN)8 7+
H A] 04 XISl ol XIS XFA XIS 2™ XISH=10H AMO|S %X-"I:él‘
FMH EHAAl | HBELA SELEE SEL=EY CHAICIR by
2017-11-09 | QmACIZ SAQIAERE B2
sroyasae| L AREE 2 , S1e
AR 26 | (zzn peem | T T i 9l 3¢ P
2017-11-27 | =B SAQIAERI B9
FRALHAEZIH . ANRES 7Y , e
22| s | s wag | NTEE R 36,900 o 3 r
2017-11-02 | <mACE SAQIAERE B2
grQAAERE | |0 =0 N2EE 29 21,950 A==et S
: (z27 Meot2) 9l 32




NEE SH0PIE AFFEH| HY

O ABEANT - G2 ~EDRD

MY EHAAl | HAERA =5 SEL=R CHAICIR = ﬂf’
SAOHAEDIC 2017—‘1 1-01 S0IE] gz _§-°.:J 8.100 FRAHAERH SR =
1220 | (z27 M=20) | 2@ o ol 1y
-11- HERT zo 28 SAQHAERIC £2
srogaepg | 110 = i 20,000 T =Et e
1221 (z22 M202) | 28 Eo 9l 4%
-11- THOIHI01A 3 88 [AHAERICH 2
SAOHAEICH 2017 .11 15 THOIHIOIA =32 25,100 LHAERY =
1911 | (z20 p2om) | 2 89 9l 594
2017-11-21 THOIHIOIA =9 88 FAHAERH R
SAAAERH : _ 32,200 e
12:33 | (z27 M2om) | 2 Eo 9l 62
1= M oo =29 SAQHAERIE £EQ
oA AE}CH 2017 '11 24 ad S90S 14,000 LHAEeH =
1210 | (z27 M2om) | 28 o CIRl
11— ofl A D = [=PN AEDICH =0
SAQHAERCH 2017 '11 27 ORI A =3 ?E 28,000 FRAQHAER EF =
1230 | (z23 M2om) | 2E g9 9| 3¢
-11- oA 2 88 QARHAERICH 2
SAQHAERCH 2017 .11 28 AT =2 = 21,000 AHAER =
1224 | (327 M=) 2 8ol 2l 3%
2017-11-29 | ==0HHlelet zo 28 SAQIHAERIH £9
FRALHAEZIH , =
HAEet 87 | (@22 o) N 19,000 ol 13 ot
-11- ol A o =8 [AQHAERIE 22
onoyacag | 017-11-29 | AFRI4 20 £ o0 0| FEAAER S
1254 | (z27 M2om) | 2E go 9| 3¢
1= SAICHE oo =29 SAQHAERIE £EQ
SAQHAERICH 2017 '11 29 =AHE =25 16,100 LHAEeH =
15856 | (m2q M2om) | 2E Eo 9l 2
2017-11-30 TIESEN =0 28 FAHAERH BER
FAAAERH : _ 23,200 e
12200 | (z27 M20t=2) 28 8ol 9l 3¢




